/’—\ 1
A 1\‘?; Ll | Al T
q 8 2 -?831

%- 12 b
2
® 12 \g\® \
- \:??&7-\
\a*h"“ﬂb
gy =-\3

“ €
-—q,\q 5\ 3\
- B (‘\” ttq) tz,(gg ‘1*2.)-&3 (32" ‘2>

L ‘2(‘-" ('07 ¥ '5(.'3)

\.
S 29 2 G+ VL3l

J-._‘
<

#\u{fnoh'» "h d arowws ok § (”fj)
S04 we hwt 2x2 madwx ., A =



L-{- ’JJ
M1M‘$ Mu: 4 le; 2
Miq = )
% i ma&’ .
N v
Q'JL" - i 2 2, P "
4 A B 8 ( 'Al“ 1(35 "‘I)
- -2 (21+Y4)
: L, - 2 ? +3 (12+25)
AR “’:J S Ly = g1-50+3<4
Hii’ - \ l;g,\ q\ - 56" & :3\ = 129 -5
® 93 ew),
M. : a \ )
\ \"'L‘ 3 \ - Q‘+\1 = ab
il S \?; g\ . \2-(-20)= B2
_— -
Maye \ Qi’ '37’ l L oN- 1272
m‘la L \ ‘\L{ ::;’ \ ¢ T e 19
Mag © \‘ * \ : g-FRE
Yy
Mg, =
3\ \9;5 :1\ - 2..-];5-:.-13
May = \\3’5\\ = |-9=--%






3

+2 |
63‘1: (-\)3 l 3 |
= -1 (- 3)=-(-&)=¢g

Can ™ E"')%H \ if: 9; ‘
= 4e [Tk )=~1L
go!w’vvd, St Jauto i e4w 44_»:‘3_‘ \&amurﬁ eu.b:

. gl arnt adlr g et |
Linawe - oauodions : o,
\a|7‘-\/ +/b,g,+C:Z' kl/
R, L + by +Cs
ﬁ$i+bza""czl"'k‘3/

RYR pw‘:—( I WW%WW ?mmdﬁ”acfr»w
; b, C,

al N kl
AN
[ laa Ca Z R?

Z F e



we

;

Huu

/8%

R

1

ol 1731

O
R
R

by

by

ba

C,

™ L

Rs
Cq

C3

D

70

+ D
b3 K;

> ; - b
L‘jua-hm 14 %"\W/M 7
A‘H- § :A p b A

>4 a

A

Tk 5 Fha solubion Dj s7.¢kmuf
»w =

L) Zhr 2 Cypamuy /(u.l& -
8 Solve Has {pdowfk-) us:pT pfmy}; M

Lo - 729 42 ° 1.~
& "'97 5y, T T8
sw ¥ 2y “bz T 7 -
J
4- L 74 ﬁ: z Q’(‘M+z)-("7)("3£+;)
é ";? =L -Li.fl?.-t--;)-:)




Ig Xy :' I" . " g
( 4-1(/?_-!--:/1)
= Lx¢0 4 7 x32+ 2

“ 2¢p- el 2l

An' lff " I -
TR i
F 4 0
= ] (‘(&4'2) d }(#5”?%‘ I(ZOKQ
= £65
49" ¢ ; (('5"”*) (- 313)
L = oy ’ -Fl(‘n-*rf)
A 7 -t = -0
Az: /q .- IT’
I = o |8 _a'—y)
2 : = .c-sy["12"1‘(
T (fz+>*1
= -G
R ‘UUVT (’-rawﬁ’!'" /u!.(
£F 8+, 55 = -4 2
: =< 1. )7 A 12



Selua i AU ~2M432:37 golul Ay, 2 VL
6 “32;7#52}5? GYOW:}‘A mﬁu7

Mao find eodatrs o

MYWM °



